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(b) After this, question booklet will be given to the candidates
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booklet if sticker seals are not intact.

(ii) Tally the number of pages alongwith no. of questions
printed on cover of the booklet. In case of any discrepancy
please get the booklet changed. This should be done
within 5 minutes of receiving the question booklet, after
which neither the question booklet will be replaced nor
will extra time be given.

(iii) Check that question booklet contains the questions of all
relevant subjects/topics as required and stated in the Note
and no repetition or omition of questions is evident.

(iv) After examining the question booklet please enter the
Serial No. of the question booklet at the appropriate place
in the answer sheet and the corresponding circles be

” darkened with Black ball-point pen.
(c) Candidates are not permltted to mark answers in the Answer

Sheet in these 15 minutes. TWO Hours more will be glven

for marking all the answers

(i) 'Examine the booklet and to see that all paper seals at the
edge of the booklet are intact Do not accept the question |

2. (a) Onpage 1 of Answer Sheet in upper half portion, write Name
of Exam, Name of Exam Centre and Date of Exam. Put your
signatures also. On the lower half portion of this page fill in
the boxes [J of the first topmost line in capital letters, your
surname and name (in English). Write one letter in each box
O Below each letter darken with Black ball-point pen the
circle © bearing same letter.

(b) On page 2 of Answer Sheet fill in your Roll No., Set Code, |

Sr. No. of Question Booklet etc. Cg writing in thel:]and below
it by darkening corresponding
(c) Onpage?2 of Answer Sheet only the answers to questions are
to be marked. The instructions for this are available on the
back cover page of this question booklet.
(d) All entries to be made by Black ball-point pen.

3. Optical Mark Reader (OMR) machine prepares the result by
reading the entries made in the circles © with the Black ball-point
pen on page 1 and 2 of the Answer Sheet, hence the candidate
must be-extremely careful i in marking these entries and must not
commit errors.

4. Please do not write anything extra except what is asked for.

5. Use of any Calculator, Mobile Phones or any other Electronic
Gadgets and Log Tables etc., is Strictly Prohibited.

6. Rough work should be done on the blank pages provided after
each Section or Subject. Extra paper will not be supplied.

7. Use of Whitener in the O.M.R. answer sheet is not allowed. In
case if it is used, UFM case will be registered and candidature will
be cancelled.

(For instructions rég"ai’-di@iffhnﬂdng the answers please see the back cover page of this Question Booklet)
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General Knowledge

(Q. No. 01 to 100)

Mira is a

(A) Supercomputer

(B) Robot

(C) Classical dance of Rajasthan
(D) Spacecraft

The Indus valley people were not
familiar with

(A) Copper

(B) Silver

(©) Tin

(D) Iron

Who were the Mughals?
(A) Afghans

(B) Arabs

V(C) - Mongols

(D) Chaghtai turks

The Rama Krishna Mission was
founded by

(A) Dayananda Saraswati
(B) Vivekananda

(C) Keshab Chandra

(D) Han's Raj

What is the most significant feature
of the Indus valley civilization?

(A) Burnt Brick buildings
(B) First true arches

(C) Buildings of worship
(D) Art and architecture

A= A
(@, =. 01 & 100)
n‘mqas?
(A) TR T B
(B) T&rz®

(C) USIEATR T HIEHIah FeA
(D) oA 2

T AT R S ?
(A) IwuTT
(B) owdl

© i
(D) oA gehl

A HWT 7S & TEATYH -
(A) TIHE Tt

(B) fRwHe

(C) wua =g

(D) @ TS

. Ty aret g &1 =@ ggegut wen

T ar ?

(A) TU A | = TURA

(B) WuUH @&l HHR
(C) wniears
(D) FHEAT AR AETHAT
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Buddha's preachings were mainly
related to

(A) Belief in one God

| (B) Practice of rituals

(C) Purity of thought and conduct
(D) Ideal worship

Guru Nanak preached :
(A) The Brotherhood of man

(B) About making sikhs a militant
organization

(C) Sikhism as a religion

(D) The unity of sikhs

The remains of the Vijayanagar
empire can be found in

(A) Bijapur
(B) Golconda
(C) Hampi
(D) Baroda

The famous court poet of Akbar was
(A) Birbal |

(B) Tulsidas

(C) Bairam Khan

(D) Rahim

TG & IUY T T GEAETH ...
or |

(A) UH & wEaE § sl
(B) T &1 Ut

(€) Fraw 3R e Y yEa
(D) eest qum

T A ST IAIIT T -

(A) wgwt # srderm

(B) T =71 ush rrdwarel €ed
(C) Trawa &1 T ad s

(D) et & wewar

T T R
(A) e
(B) TIRIvET
©) w=h

(D) ==

STt 3 T g Y -
A) et

(B) erdara

(C) ™ @H

(D) Wm
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10.  Raja Raminohan Roy was “not

11,

12.

13.

connected with

(A) The abolition of Sati

(B) Widow remarriage

(C) The Promotion of Engl_ish
(D) Sanskrit education

Who was the president of the Indian
National Congress when India
became free?

(A) Mahatma Gandhi
(B) Jawaharlal Nehru

 (C) 1.B. Kriplani

(D) Sardar Patel

The first Satyagraha,campaign of
Gandhiji was started at :

(A) Champaran
(B) Bardoli
(C) Dandi
(D) Baroda

Who gave Vallabh Bhai Patel the title
of Sardar?

(A) C. Rajagopalachari
(B) M.K. Gandhi

(C) JL.Nehru

(D) M.A. Jinnah

11.

12,

13.

URA Y TAAAT & G0 WA W
HUT o AT BT & 7

(A) wrETeRT Tieht
(B) WATEHATH A&
(©) W. =t FweT
(D) WER YA

-

mw@uﬁéaﬁmm‘tmﬁmﬁ
&7

(A) ®. TSITNATATER
®B) w. ®. WR
(C) . TH. TE®

(D) ww. q. R
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14. One Astronomical unit is the average 14. TH @O TN, ... & ot &t
distance between sitad R § |
(A) Earth and the sun (A) geeft aiv o
(B) Earth and the moon (B) gzt aik =
(C) IJupiter and the sun (C) T& siv ™
(D) Mars and/the sun (D) wITeA 3&{;{&
15. The velocity of winds is governed by | 15. wa= &% W &1 §Raw :
"~ (A) Pressure gradient (A) " waUTar
(B) Farrel's law (B) e fam
(C) Rotation of the earth (C) gt & guia
(D) Temperature (D) «maaE
16. Which one of the following is a great | 16. fer ¥ ¥ ®raT THEFEA I e ?
circle?
, (A) Heh-{@n
(A) Tropic of cancer e
(B) Tropic of capricon (B) -
(C) Equator © = Rl
(D) Arctic circle (D) W g
17. What is a cyclone? | 17. SFaT@FTE ?
A) A low.pres.sure. system with (A) ol ivemed i sreware weT & He
clockwise winds in the Northern R ;
hemisphere T
(B) A high pressure System with (B) I et H ST qe &% WYy
anticlockwise winds in the : TTEd TEE
Northern hemisphere |
(C) A low pressure system with (C) Iul e & JeugTa a1 & Wi
anticlockwise winds in the . araTEd gaT
- Northern hemisphere . ' 5
(D) A high pressure system with (D) sw@ | A
clockwise winds in the Northern ?:F&mnaﬁ a1
hemisphere
SIPCS-03Z/14 -6- Set- A




18.

19.

20.

21.

.Snowfall occurs when

Water droplets freeze as they
fall to the ground

(A)

(B)

Rain drops are carried up by
updroughts in air

©

Dew points of air is below
freezing point

(D) Airis highly moist and rises due

to convection

What is measured by the sling
Psychrometer?

(A) Temperature
(B) Humidity
(C) Pressure
(D) Wind velocity

Hail consists of
(A)
B)
©)
D)

Granular ice
Crystals of ice
Water droplets

Masses of ice with concentric
layers

Which region is most famous for
citrus fruits?

(A) Deserts -
(B) Monsoon regions
(C) Temperate grasslands

(D) Mediterranean regions

4

i

S R e Sy

19

| 18.

21.

Tewama g 2 =

(A) Ut F g T w Fre & 5w
ATt B |
Tut i @ ag d ugie & BT
SRAWE ARG |

1Y T ETE R @ g
3 |

arg # Srfremr wHi gt @ 3
WAEH & HNUT IW ISelt R |

B)

©)

D)

_%m%wmm%?

(A) aTIHTE
(B) aEar
O ==

(D) a= AT

%

20, WETHSAE s

(A) whTErE a6

(B) Trtew ok

(C) urht g

(D) =t ¥ wet GHde uva afea

w2 et % forg e W R R ¥ ?
(A) HEIIA
(B) WIHA &

(C) sfiavsor arEEss
(D) yEzEETHE &%
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22.

23.

24,

Which country is the leadmg

producer of Uramum”
(A) Canada
(B)

Russia

(C)y France

(D) India

Which country is known as the sugar

bowl of the world?

(A) India

(B) Cuba

(C) Russia
(D) USA

Trees shed their leaves in winter !

season to
(A)
(B)

Conserve heat

Take rest after the summer
growth

i

22.

23.

giﬁmrmﬁﬁvammvﬁ%m
HAAT R ?

(A) A=t
(B) ®=
(C©) =™
(D) WA

farvar 3 Rt g Y wraET et
??

(A) 9Ra

- (B) =

©C) ==
©) Fw@R

it g W U 310 o RT3 =R o

(A) FoHT 9=

(B) e g o & =g fasm &
fore .

(C) Conserve water (C) & =

(D) Escape being eaten by animals (D) WTOfET g T @ 7= & fore
25. Which one of the following is the | 25. fiw # ¥ ®¥E vw WNa w1 W By

smallest state of India? =7

(B) Tripura (B) fgu

(©) Sikkim ©) fowbm

(D) Megalaya D) e

J{/ .
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Which is an area of Tropical ever

it @ SR wRE 5 w

26. 26.
green forests? a7
(A) The Western ghats | (A) uferdt urd
(B) The Eastern ghats (B) yuita wret
(C) The Western Himalayas ©) afinft fwrer
(D) Madhya Pradesh (D) we Wyt
27. Why are plants grown along river | 27, TR F TR TNT R ITA AR L ?
banks?
e &
(A) To prevent floods (A) @ A S forg
(B) To provide shade (B) v fere
(C) To reduce silting and erosion (C) foredin aikt sraem aﬁmﬁ*ﬁﬂ
(D) To control pollution (D) weERur ﬁiﬁw & forg
28. Where is the Bandipur Nationai Park? | 28. W A ITh el ReA & ?
(A) Rajasthan (A) TSTEA™ |
(B) Andhra Pradesh (B) 3y w9
(C) Assam (C) GTFW
(D) Karnataka D) watew
29. .Kaziranga wildlife reserve is in 29. Tﬁgﬂ'{‘ﬂ‘éﬁﬁﬁa AR ......... "R
(A) Uttar Pradesh (A) I W
(B) Tamil Nadu (B) afierTg
(C) Assam (C) 3w
(D) Kerala. (D) ¥
30. Which crop requires water-logging | 30, frw wuet £ Q@ F fere st
for its cultivation? fFT ATy ?
(A) Tea (A) =@
(B) Coffee (B) wid
(©) Rice ©) &
D) Mustard
(D) Mustar D) ‘ .
SIPCS-03Z/14 -9, Set- A
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31.

32.

33.

34.

3s.

On which river is the Nagarjunasagar
project located?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tapi

Kothagudem thermal power project is
located in

(A) Bihar

(B) West Bengal
(C) Andhra Pradesh
(D) Madhya Pradesh

Where is Kalpakkam?
(A) Uttar Pradesh
(B) Maharashtra
(C) Gujarat

(D) Tamil Nadu

In which state is silent valley located
(A) Tamil Nadu

(B) Kerala

(C) Assam

(D) Arunachal Pradesh

Who prepares the topographical maps
of India? '

(A) Geological survey of India
(B) Survey of India

(C) Defence Ministry

(D) Geographical survey of India

31.

32.

33.

34.

35.

(B) wEIOYg
C) T
(D) wfeETg

A A Fm T A e R ?
(A) Aty

(B)

(C) 3Imm

(D) ITEUTEA T2

wra § wifeufas afafm w1 faR
HEATE 7

(A) R spsfta wderor

(B) w3 sifw sFea

(C) e wATer™

(D) Wt sivifere wEa

SIPCS-03Z/14 . -10-
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36. The Satellite launching centre of f}
Indian space Research organization °

37.

38.

39.

is in
(A) Thiruvananthapuram

(B) Bangalore

' (C) Thumba

(D) Sriharikota

How many PIN zones has India been
divided into

(A) 5

(B) 6

< 7
D) 8

Monoculture is a
characteristic of :

typical

(A) Shifting cultivation
(B) Subsitence farming
(C) Specialized horticulture

(D) Commercial grain farming

Who acted as the chairman of the !

Drafting committee of the Constituent
Assembly?

(A) B.R. Ambedkar
(B) C. Rajagopalachari
(©) Rajendra Prasad
(D) Jawaharlal Nehru

3
1

{

H

36.

37.

39.

3 WE o SrASIeE &1 30
AT HE ... TR

(A) Ty
(B) STER

(©) gwn

(D) sftgfanter

W ot foka T fwmit i man & 2
(A) 5
B) 6
< 7
(D) 8

wfam T & grwfen wiet &
AWM T HH q ?

(A) wft. M. FAAETH

(B) #ft. TeRaTETat

(©) TSz T

(D) WATEATA TT®

SIPCS-03Z/14
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40. The Election commission is
responsible for the conduct of
Elections to

(A) The Parliament
(B) State legislatures

(C) The offices of President and
Vice-president ’

(D) All the above

41. The International year of Biodiversity
© was

(A) 2006
B) 2010
©) 1996
D) 1999

42. Which of the following affects

40. TS SR F HAG F GG AT
....... o e § | '

(A) wug

(B) T fagmwHEA

(C) Trsgufd 3 Iu-Trsgufy wraie
©) IR RgTgash’

41. & Rty w sawsg e ... o |
(A) 2006
(B) 2010
© 1596
D) 1999

42. 34 e w = # @ eawr v

Biodiversity qEard ?
(A) Environmental Pollution. (A) TAtaTer Vg
(B) Ocean acidification (B) €Y= IrAftaRtor
(C) Climate change (C) smragaT # JEea
(D) All of the above (D) 3w 3w g avit
43. Carotene is found in 43, ¥HT ........... HaET D
- (A) Lemon (A) ﬁg
(B) Carrot (B) WK
(C) Radish (C) vkt
(D) Turnip (D) vrerem
SIPCS-03Z/14 -12- Set- A
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44. The sweet taste of fruits is due to 44. el § Wit @I & T ;
(A) Maltose (A) wEe
(B) Ribose ' (B) T
(C) Lactose ‘ N (C) A==
(D) Fructose (D) HFR=
45. Gall bladder stones are deposits of 45. AR @M ....... HT AT 2 |
(A) Calcium (A) Ffeyraw
(B) Phosphorus (B) wrawRE
(C) Glucose 4 (C) &=
(D) Cholesterol (D) HeEZTA
46. ATPstandsfor 46. ATP &1 qui®g :
(A) Adenosine triphosphate , (A) uferarEa TEwiEhe
(B) Alanine triphosphate (B) TEMTEA SEH TR
(C) Adrenalin triphosphate (C) TFTeRT TrERTERE
(D) Asparagine triphosphate (D) TEAE TTEwIEhE
47. Forest fires are natural sources of 47. TEEA ........ T qTepfeh T ® |
(A) Carbon monoxide (A) HET WAGATEES
(B) Hydrocarbons (B) TEZWEA
(C) Hydrogen sulphide (C) TEINA AewTss
(D) Nitrogen dioxide (D) TEISHA STENEEE
48. Which of the following contributes the | 48. #Rayg wwra & forg fmr @ & frwrant
maximum to the greenhouse effect? IRTEH AferE § 7
(A) Carbon dioxide © (A) wET STEReES
(B) Water vapour | (B) W@t am™q
(C) Methane (C) Toem
(D) Nitrous oxide | (D) TTEeH ST
SIPCS-03Z7/14 -13- ' Set-A
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49.

50.

S1.

- ®)

The weight of a body is

i)  Same everywhere on the surface
of the Earth

il) Maximum at the Poles
ili) Maximum at the equator

iv) Less on the hills than in the
plains

Which of the above statements is/are
correct?

(A) (i) only
(B) (ii) and (iv)
(C) (iii) and (iv)

- (D) None

A person weighs more in a lift, which

is

(A)
velocity

(B)

Moving down with a constant
velocity

©)
D)

Accelerating upward

Accelerating downward

One finds it more difficult to walk on
ice than on a concrete road because

(A) Ice is soft and spongy where as

concrete is hard

the feet is less than that between
the concrete and the feet

©

There is more friction on ice
than on concrete

(D) None of these

Moving up with a constant

The friction between the ice and

49.

50.

51.

IR &1 9K ¢

i) gt % g3 W W I GUE Bl
71

i) yaw fman g |
iii) e W@ W arfieRa grar @
iv) aHaet W o ugTEt U % g g

IR fRu o fram/faumEt | @ @

aft R ? |
(A) & (i)

B) (i) 3R (iv)

(©) (iii) 3R (iv)

(D) U ot Tt

AT 1 Ao ferwe # arfdes g & = -
(A) 3Tl T | S AT
(B) areret iy & i<y st }

(C) IAgEt &R
(D) STegeE o

FHIhHTE TS & GehTaet Ttk U7 ST

i BT  wANh

(A) = T 3R T gt § wats
FHThATE HIR BT B

(B) uta 3t b & = &1 wdor,
HAIE 3R afa & gerad &

- dad

(C) ®T=AIZ & HHTad 9% TR quoT
fdren a3

(D) ¥ & &g oft 7eff
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A sheet of paper can be pull&ed‘out

quickly from under a glass of water
without spilling the water. This
phenomenon illustrates

(A) Lack of fnctlon between paper
and: glass r

(B) Newton's thrrd law of motion
(C) Inertia I
(D) Acceleration

Conservation of energy means that

(A) Energy canbe created as. well as
' destroyed

(B) Energy can be created but not
destroyed .

(C)- Energy Carrnot be created but
can be destroyed

(D) Energy can neither be created
nor destroyed

A person chmbmg a h111 bends |

forward in order to

(A) Avoid slipping
(B) Increase speed
(C) ‘Reduce fatigue
(D) Increase stability ’

O ST O O g o2 1

arft wemrR R sarh @ witer o

AT ¥ |9 T qaT § -

(A) A 3 e 26 ter oo 5
(B) A i = v Fraw
(C) wEa |

’,(D) o

. Tt v e o ® e -

(A) Fil w1 IeaTeR q A% TR @

. wwad

(B) el ot Ieavan foma T wemar R
W T TE foRar S wehan

(C) ottt Feavert Tt Foba o e

W e foman i wenar R
(D) Mt &7 7T IeqTEA, AT e oA
WEEATE

-~mmmmmﬁmaﬁ |

T:ETW

(A) fraem & w= ¥ forg
(B) Wi wreT & fore

(C) uwm wer & forg
(D) fore sem & forg

. Atmospheric pressure is measured . STTEORE FEH .. | T ATt
witha - , ' 3 : ‘
(A) Hydrometer. ( A) g
(B) Barometer (B) m
© I‘-Iygrometer ' (C) TuvH=
(D) Altimeter D) st
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56. Raindrops are spherical due to

57.

58.

59.

(A) Viscosity of water
(B) Surface tension
(C) Continuous evaporation

(D) Air friction

A foot ball bounces when it falls on
the ground because

(A) It is made up of Rubber
(B) It is hollow

(C) It is very light and is able to
overcome the resistance of air

(D) 'Of its property of elasticity

A thermostat is a\device for

(A) Switching off an electrical
appliance

(B) Measuring temperature
(C) Regulating temperature
(D) Producing Heat

The layer of the atmosphere which
reflects the radiowaves back to the
earth is called :

(A) Stratosphere
(B) Tropopause
(C) .Ionosphere |
(D) Troposphere

36.

57.

S8.

59.

aﬁ’-ﬁgm@ﬁmm:
(A) mwr:m

(B) gw-wm

(©) W AT

D) W&W‘*"T

T W RER geaie & 5o ol

TR ¢

(A) TEERA TR

(B) agm%

(C) =% Tt ¢ ok arg wRdy =
IR &R WAl 8

(D) It JIATELART 0T % HROT

(A) Forge T 2 Rer-aifw
®) AT i ATAA & forg

(C) wru fawa & forg

(D) s Seae < fore

AT Y 98 qId A LA a4 R
YAl TR QS Tl ©

A) BARER
(B) graate

(C) erENTEmR
(D) qrfERR
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60.

61.

62.

A lunar eclipse occurs when
(A)
- are not in the same line

(B) The moon comes between the .

sun and the earth

(C) The earth comes between the

sun and the moon

The sun comes between the
earth and the moon -

D)

The sky appears blue because
(A) Itis actually blue

(B) The Atmosphere scatters blue |

colours more than the others

(©) Al colours interfere to produce

blue

(D) In white light the blue .

component dominates

Bats can fly in the dark because

(A) They have better visiomr in the |

dark

(B) The pupils of their eyes are very

big

(C) They are gulded by ultrasonic

waves produced by them _

. _j 60.
The sun, the moon and the earth

61.

62.

w-m@%wm

(A) wa o, a‘iaﬂ?qwﬁ@s’r@ﬁ
- @R

(B) ?g&aﬁw%ﬁasa‘laaa |

(©) o 3k b o geh sy A

(D) gt IR R F A e @

YT ST fEE w1 W ;

(A) o ¥ ag e ~

(B) o= &M & fiet TR A@rEOr

e R R

(C) uwt TN & e & =fier o1 sar
% | ‘

(D) WS T A AT T T ST
BT 8

IR N gt 3T w1 wH -

(&) SR IR R R B B

(B) sitwit &t gafern st a<t Bt
.

(C) mmwﬁaa—;m‘rﬁmw‘t
e Bt @

(D) None of the above (D) T A BE T
63. A device used fof measﬁring the 63. mﬁw@mﬁ%ﬁmwﬁfﬁw
;lz;))th l::lf .the sea is called ) e
timeter
(B) Fathometer (B) w
(C) Hydrometer © E@@Tﬂ?{
(D) Manometer - (D) &R
SIPCS-03Z/14  -17- Set- A
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64. Which of the following devices
- converts electrical energy into
mechanical energy?

(A) Dynamo -
(B) Transformer
(C) Electric motor
(D) Inductor |

65. -An electric bulb has a filament made
of

(A) Copper
(B) Iron
(C) Lead
(D) Tungsten

66. The nucleus of an atom contains
(A) Protons and Neutrons
(B) Prétons and Electrons
(C) Neutrons and Eleétrons

(D) Only Neutrons

67. Radioactivity has applications in
(A) Medicine
(B) Agriculture
(C) Industry
(D) All these

64. Frer & @ whvr W Rege ot =
ifies st & TRt T E 7

(A) ST
(B) IFEGIWT
(C) forgm W=
(D) F=aFH

65. %g?rawzﬁﬁmﬁ_re ......... EIRCil

66. URHTY] <Y ATINE |
| (A) WIEH R =EH dn }
(B) ‘e 3t wovaem B 3
©) =M 3 g
(D) Tk =2

67. YeanfEaarEr ........ Aswm e |
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68. The age of the earth can be estimated

69.

70.

71.

by

(A) Uranium dating
(B) Carbon dating
(C) Atomic clocks
(D) Biological clocks

Which of the following are Einstein's
discoveries?

(A)
(B)

Photoelectric affect and X-rays

Radioactivity and the theory of
relativity

Photoele.ctric effect and the
theory of relativity

©)

(D) Radioactivity and X-rays

A device used for converting a.c into
d.c is called

(A) Transformer
(B) Rectifier

(©) Induction coil -

(D) Dynamo

Radioactivity is a property of
(A) Atomic nuclei |
(B) Excited electrons

(C) X-rays

(D) Ultraviolet light

68. gzt Y AT HT HEWAT ......... a

69.

70.

71.

TRITET T WAl § |
(A) gfam 3fm
(B) wwrea R
(C) s et
(D) rawEh

e § ¥ Sl emsRET S @ d ? |
(A) wRIEeFRS a9E 3t X-frwor

B) YRerofFmm s RaRRed @
e

(&) uﬁﬁsﬁ% Zeh awTd 3R fraRfae
HT IHT

(D) %%a‘rﬁﬁzamhaﬁz X-ferror

wHt w et | afafda @ & &g
ITAT WA FY ... HEAE |

(A) TFEEIR

- (B) YFewmrr

(C) T=a9F &5

- (D) SREAH|
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172,

73.

74.

75.

76.

Cryogenic engines find applications
in’

(A) Sub-marine propulsion
(B) Frost free refrigerators
(C) Rocket technology
(D) Superconductivity

Which of the following states is the
largest production of coffee in India?

(A) Karnataka
(B) Kerala
(C) Orissa
(D) West Bengal

The International Rice Research
Institute is based in

(A) Austraiia
(B) Mexico
(C) Nigeria
(D) Phillipines

A prokaryote is

(A) a single celled organism
(B) - a hard and stony fruit
©)

bound nucleus in its cells
(D) None of the above
The Mammal that lays eggs is
(A) Kangaroo
(B) Duck-billed platypus
(C) Opossum
(D) Other

an organism lacking membrane

72,

73.

74.

75.

76.

T 4 9 ara & e v @ wih =
rfiehau ST BT ® ?

(A) ®AleH

(B) T

(© e

(D) uism s

TRhE® :

(A) TH wE ST

(B) Teh TR 3R Teiiel wet B

(C) =| g & &y # faeet aaw
ATfYres <At Y

(D) 3 & &g oft T

TE T A 372 AT R -
(A) wIE

B) T=-fues wiftuw
(C) NuwEw

D) I

e
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77.

Bacteriophages

(A) A kind of soil bacteria

(B) Bacteria growing in phases

(C) Parasitic bacteria infecting man
(D) Virus infecting bacteria |

71.

wﬁangsﬁvﬁ-‘

(A) Trdt & v Tomen = iy
(B) faryy T wwer # Reer
(C) ushieft Sframey < wgsy =t ¥
(D) Ty =it Sfiamyy <t @

-~

78. Lichen is a symbiotié association | 78, WEHA U TR &l HIwH Sare
between an alga and which one of the i e it & fft o F s, e
following ?

(A) A bacterium (A) T Sy

(B) Fungus (B) ww

(C) Liverwort (C) Toraw

(D) Fern D) &
79. Which one of the following spices is | 79, fr=# @ ger &t et & frw 7am =
' obtained from flower buds o R ST g ?

(A) Clove (A) v

(B) Cumin (B) s

(€) Nutmeg (C) wEER

(D) Coriander ©) afrm

80. The term 'gene' for the factors | g, s P & wewt & fg
controlling heredity was coined by 'S TR R ..o 3 ot |
(A) Gregor-Mendal (A) FR-irea
(B) Hugo de vries . ®) T ara
(C) TH Morgan ©) Huwdnty
(D) W. Johannsen D) T i

81. Chocolates can be bad for health | 81. ........... 1 IS HIEAT & HHOT TR
because of a high content of & foru = oiReE § |
(A) Cobalt (A) WraTE
(B) Nickel B) frwe
(C) Zinc (C) #ff=®
(D) Lead D) =
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82.

83.

84.

85.

86.

The naturally occurring anti-
coagulant in the human blood is

(A) Hirudin

(B) Heparim

(C) Fibrinogen

(D) Serotonin

Agronomy is a branch of Agriculture
that deals with

(A)
(B)
©

Breeding of crop plants
Principles of field management
Principles and practice of crop
production - -

D)

Protection of crops from
Diseases and Pests

Foot and Mouth disease occurs in
(A) Cattle

(B) Cattle and Sheep

(C) Cattle and Pigs

(D) Cattle, Sheep and Wine

'Common‘salt is obtained from sea-
water by the process of

(A) Sublimation
(B) Evaporationr
(C) Crystallization
(D) Filtration

Washing soda is

(A) Sodium chloride

(B) Hydrated sodium carbonate
(C) SodiUm‘bic'arbonate f

(D) Calcium carbonate

82.

83.

84.

8s.

86.

(A) wHE Wi & TR

(B) &= =xawet &

(C) wod Ieared & faw ok urem

(D) T SR YT T A BAA H
gan ‘
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| 87.

87. Lime water contains : .
(A) Sodium hydroxide (A) @mg@w
(B) Calcium hydroxide (B) *fcvam ggramTss
(C) Sodium carbonate (C) wifeam HEie
(D) Calcium chloride (D) hfeyem wirEe
88. Cooking gas is a mixture of 88. urs #, ...... w1 fasur
(A) Carbonmonoxide and carbon- (A) a;ra‘:r 'qiqiara'r;,‘g 3ﬁ‘{ FT4
dioxide TrdaaaTie
(B) Butane and Propane (B) a-@-qaﬁ-{ 0T
(C) Methane and Ethylene (€) Tdw stk Rl
(D) Carbondioxide and Oxygen (D) FTea STéaFaTse 3R aiedie -
89. The term pH dehotes the 89. pH q-q--;!ﬁmm 2 -
(A) Temperature of solution (A) et T A
(B) Vapour pressure of solution (B) a\awamﬁa AL |
(C) Acidity or Basicity of solution () e W sl o afRrwa
(D) Ionic strength of solution D) l-ﬁﬁ a?remﬁzs et |
90. DDT is the name of a chemical that | 9, 3‘13‘12% Tt wEma w1 w2 R
can be used as a/an I ........ & Rg @R |
(A) Antiseptic ( A) qﬁﬁ%ﬁ R
(1(3:) .ﬁslcat.lc:.de ®) A
ertilizer o
- (D) &
91. Haemoglobin is 91. fREvAIRE |
(A) The colouring matter of leaves L L
of plants . (A) ﬁzﬁﬁsqﬁﬁmﬁmm
(B) The colouring matter of Blood (B) & % uatd ARy
(C) A compound present in Milk ©) ;aﬁmvﬂﬁraa
(D) A compound that transmits
signal to the Brain (D) W <t wferss =t Elaiil S
| R
SIPCS-03Z/14 +-23- . | Set- A
Iz f’. }‘»
1 . -




92. The surface of a lake is frozen in

93.

i)

severe winter, but the water at its
bottom is still liquid. What is the
reason? :

(A) Ice is a bad conductor of heat

(B) Since the surface of the lake is
at the same temperature as the
" air, no heat is lost

The " density of water is
maximum at 4°C

©).

None of the above

The Red Data Books published by the
International Union for Conservation
of nature and Natural Resources
(TUCN) contains lists of

(A) Endemic plant and animal
species present in the
biodiversity hotspots

(B) Threatened plant and animal

species

92. w3 3 A sher-ys Rusfifew g 2,

93.

mwﬁwaaam% | STERT HRUT
FR?

(A) T, e T e B |
(B) azﬁ'ﬁ?sﬂﬁ-q@mmm, IR
Y 1 ATGAT THA S R, FEAT

g gt g |

(C) 4°C W ST T WewH B ¢ |

(D) T ¥ =g T

Wﬁmgﬁmuﬁuﬁﬁmaﬁfﬁ

TR = Agye fEed (IUCN) 3Rt

THIIE T LT TR H ..o, E3)

TR

(A) S fafirem aw Tuwit & Rrwds
Y iR ol s '

(B) e i T o R

(€ fafyem ot § A= =AY

(C) Protected sites for conservation e .
of nature and natural resources & !T(&TUT & Tore ghem
in various countries &
(D) None of the above (D) =% & 1S T
-24 - Set- A

SIPCS-03Z/14




95.

96.

B)

Which one of the following
observations is not true about the Quit
India movement of 19427

(A) It was a non-violent movement

It was led by Mahatma Gandhi
It was a spontaneous movement

It did not attract the labour class
in general

(©)
(D)

Regular intake of fresh fruits and
vegetables is recommended in the diet
since they are a good source of
antioxidants. How do antioxidants
help a person maintain health and
promote longevity?

(A) They activate the enzymes
necessary for vitamin synthesis
in the body and help avoid
unnecessary wastage of energy

They prevent excessive
oxidation of carbohydrates, fats
and proteins in the body and
help avoid unnecessary wastage
of energy

B)

©

They neutralise free radicals

produced in the body during

metabolism

They activate certain genes in
the cells of the body and help
delay the ageing process

D)

The function of heavy water in a
nuclear reactor is to : ‘
(A) Slow down the speed of

neutrons
(B)
©
D)

Increase the speed of neutrons
Cool down the reactor
Stop the nuclear reaction

9.

9s.

96.

©

1942 ‘&1 ARA SIS NG & v §

e § @ AT AR T § 7

(A) oE TS Srfgae iagrer o |

(B) T SITET FETewT et 3 oft |

(C) uE T WiSo® A€ o |

(D) 9g WA ¥ 9 T I e
T &HR{ AT |

T # a1 B AR Gt & Fafa

AT T AR f TF § e a8 TR
NS H =BT EA § | TRy 3R
et ATY T T T | s,
AT Y YA WG HAT R ?

(A) iR # fifim dvevo & foro
TR TgH S I AT e 2
Tt o Toreredt o R U B

R o wraigEge, =i a e
T AATIH ST Y ekl
I Tl & s g =t
QAT |

IR T SUTITE & AHY I TR
Tk Y fsgafam s €

IR & wer ° et @@ S
A wtaT 3 3R Fedt org
TR Rra FA TR WA |

(B)

D)

Wﬁqmﬁ%ﬁmmmé
(A) =g <t Wifa st ofiet e

(B) g @ nfy & F@E

(C) T & 321 &e T
(D) ferehiar arferfera =t ke
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97.

98.

99.

100.

Under the constitution of India which
one of the following is not a
fundamental duty?

A)
(B)
©)
D)

to vote in pubhc electlons
to develop the sc1ent1flc temper
to safeguard public property

to abide by the constitution and
respect its ideals

Which one of the following is not a

site for in situ method of conservation
of flora?

(A) Blosphere Reserve
(B) Botanical Garden

(C) National Park . =
(D) Wildlife Sanctuary

A genetically erigi‘n‘eeif’e’d form of
brinjal known as the Bt-brinjal has been
developed. The objective of this is

(A)
(B)

To make it pest resistant

To improve its ‘taste and
nutritive qualities

©
©)

To make it drought re31stant
To make its shelf life longer

Which one of the following sets of
elements was primarily responsible
for the origin of life on the earth?
(A) Hydrogen, Oxygen, Sodium
(B) Carbon, Hydrogen, Nitrogen
(C) Oxygen, Calcium, Phosphorus
(D) Carbon, Hydregen, Potassium

97.

98.

99.

100.

WA T o e | O v ge wa e
- THR?

(A) wrESIie gATa ¥ 912 3

(B) amies Im faewfem =

(C) wrawifaes Tufw Y 8wt

(D) wfaum™ ®7 Ut W IR IASH
AT T TR

FATITA AT & TOT W Teemy 6
FWHATA A AR TH AL L ?

F & TSI TRATE W R

Y FHY S -foeret & T | SET Swar

B ISHRIIRRR - . |

(A) STH! ATITH S AToTeres S
&fm |

(B) 3UW T@TE IR Uifsesh U1 Ia &
fm

(C) 3T AATHIEHE I o forg

(D) IWH IUAT 31F TN & forg

yeeft ot vt o et 3 e A @
* Q gt w1 o2 weftE Rrer ® ?
(A) TESNE, Mo, aifean
(B) e, BIEZISH, ATTESH

(C) T, Hicyram, wiawRa
(D) A, TGS, Wi
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Space for Rough Work / 3% =1 & o2 sn1g
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Space for Rough Work / TH & & o -e
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INSTRUCTIONS REGARDING METHOD
- OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

Method of Marking Answers :

To answer a question, please darken one
bubble out of the given four, in the OMR !

Answer Sheet against that question.

Valuation Procedure :
There are four alternative answers to a

~ question, only one of them is correct. One

mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall

- be awarded.

Cancellation or Change in Answer :

It will not be possible to change the marked |

bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

. Handing over of Answer Sheet to

Invigilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.c.

Name, Roll No., Signatures, :

Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO |
CARRY AWAY THE QUESTION ;
BOOKLET WITH THEM AFTER THE °

EXAMINATION.

Care in Handling the Answer Sheet: ‘

-While using answer sheet adequate care
should be taken not to tear or spoil due to :
folds or wrinkles and the impression does '

not come behind the Answer Sheet.

[l

2. qEAEATE :

3, I ST e

4. mvﬂzaﬁmﬁﬁw

5. Fweite 3 SuE i ;

- (%9 Black ball-boint ﬁ:ramuzﬁn%?)
1. SwEyEraiE

FTHA & TR M., SWee =R
THF T R R et § @ Faa @
TR ohY T HTeA I

T T o AR BT IS, I & T I
TR | T 1 T I TR TH 3
TTH BN | T Uk @ SaTeT e et Ford ST 2
A =g wrn SR T whereff 6 w5 wd
SRl e & S I 37 7 o s

IR aEeR 11 e FA F T s afa A R
W IR % T =R sree wwa T S
3Td: IT T AT A o I8 TE T I H
T UEHIES i :

0 aﬁwﬁmﬁqﬁ%%ﬁgﬁﬁﬁa
A 5 3w ofie F At gsi woeh
gfat J@-am, A TR, TEER,
g-gferET 1 TR, ars Faifa
W W -3 W W ) /

Gi) e st wheeff w y-giwE |
A wY @ S gty §)

ITefie 1 T4 3@ w9 g @ 9@
grauTh ot | 39 ®ed, Wigd A1 gaae
7 ¥ @0 4 g1 ¥ T wre o 99 @
ST e 36 T@ araarE § H {6 goe
DT SE & 1S T o i 3 |
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